

---

# On the joint law of the $L^1$ and $L^2$ norms of a 3-dimensional Bessel bridge

Larbi Alili<sup>1</sup> and Pierre Patie<sup>2</sup>

Department of Statistics  
The University of Warwick  
Coventry CV4 7AL, United Kingdom  
email: l.alili@warwick.ac.uk

RiskLab  
Department of Mathematics  
ETH-Zürich  
CH 8092 Zürich, Switzerland  
email: patie@math.ethz.ch

**Summary.** We give an analytical expression for the joint Laplace transform of the  $L^1$  and  $L^2$  norms of a 3-dimensional Bessel bridge. We derive the results by using merely probabilistic arguments. More precisely we show that the law of this functional is closely connected with the one of the first passage time of an Ornstein-Uhlenbeck process. The motivation for studying such problem are multiple. As an instance, they include the computation of the density of the first passage time of Brownian motion over some moving boundaries such as the square root and the quadratic ones.

**Key words:** Bessel bridges, parabolic cylinder function, Feynman-Kac formula, first crossing time, Ornstein-Uhlenbeck process, Williams' time-reversal theorem.

## 1 Introduction

Let  $(r_s, s \leq t)$  be a 3-dimensional Bessel bridge over the interval  $[0, t]$  between  $x$  and  $y$ , where  $x, y$  are some positive reals and  $t$  is a fixed time horizon. Introduce the couple of random variables

$$\left(N_t^{(1)}(r), N_t^{(2)}(r)\right) = \left(\int_0^t r_s ds, \int_0^t r_s^2 ds\right). \quad (1)$$

In this paper, we aim to compute explicitly its joint Laplace transform. Let  $(W_t, t \geq 0)$  be a standard real-valued Brownian motion started at  $x \in \mathbb{R}$  and

---

<sup>2</sup> Research of the second author was supported by the Credit Suisse Group, the Swiss Reinsurance Company and UBS AG through RiskLab, Switzerland.

set  $H_a^{(\lambda)} = \inf\{s \geq 0; W_s = a\sqrt{1+2\lambda s}\}$ , where  $\lambda > 0$  and  $a \in \mathbb{R}$ . Doob's transform allows to relate  $H_a^{(\lambda)}$  to the hitting time of the same level  $a$  by an Ornstein-Uhlenbeck process with parameter  $\lambda$ . That is with  $\sigma_a = \inf\{s \geq 0; U_s = a\}$  and

$$U_t = e^{-\lambda t} \left( x + \int_0^t e^{\lambda s} dB_s \right), \quad t \geq 0, \quad (2)$$

where  $B$  is another real-valued Brownian motion defined on the same probability space, we have  $H_a = \frac{1}{2\lambda} \log(1+2\lambda\sigma_a)$  almost surely. We shall see that the determination of the distribution of  $\sigma_a$ , or equivalently that of  $H_a$ , amounts to the study of the joint distribution of the  $L^1$  and  $L^2$  norms of a 3-dimensional Bessel bridge. While we are interested in the joint law, we mention that there is a substantial literature devoted to the study of the law of the  $L^1$  norm of the Brownian excursion, that is when  $x = y = 0$ , see e.g. [18],[9], [21] and [12]. The  $L^2$  norm of the Bessel bridge, which is closely related to the Lévy stochastic area formula, has been also intensively studied by many authors including for instance [22], [6] and the references therein.

Then, we establish a relationship between the first passage times of the Brownian motion to a large class of (smooth) curves to the linear or quadratic ones. As a by-product, we establish some connections between certain stochastic objects and some special functions. We will show that this device applies to continuous time stochastic processes.

The paper is organized as follows. The next section is devoted to some recalls concerning Bessel and Ornstein-Uhlenbeck processes. In particular, we give a probabilistic construction of the cylinder parabolic function which characterizes the Laplace transform of the first hitting time of fixed level by an Ornstein-Uhlenbeck process. In section 3, we derive the sought joint law in terms of transforms via stochastic techniques for the case  $y = 0$ . For any  $y > 0$ , we resort to the Feynman-Kac formula. Then, we show some relationship between stopping times for general stochastic processes which we apply to the Brownian motion. This link allows to get some asymptotic results for the parabolic cylinder functions. We end up this paper by making some connections between the studied law and the one of some other functionals.

## 2 Preliminaries and recalls

Let  $(B_t, t \geq 0)$  be a one dimensional Brownian motion starting from 0. The 3-dimensional Bessel process, denoted by  $R$ , is defined to be the unique strong solution to

$$dR_t = dB_t + \frac{1}{R_t} dt, \quad R_0 = x \geq 0.$$

This is a linear diffusion with speed measure given by  $m(dy) = 2y^2 dy$ . Its semi-group is absolutely continuous with respect to  $m$  with density

$$q_t(x, y) = \frac{1}{2\sqrt{2\pi t}} \frac{1}{yx} \left( e^{-\frac{1}{2t}(x-y)^2} - e^{-\frac{1}{2t}(x+y)^2} \right), \quad x, y, t > 0$$

and by passage to the limit as  $x$  tends to zero we obtain

$$q_t(0, x) = \frac{1}{\sqrt{2\pi t^3}} e^{-\frac{x^2}{2t}}, \quad x, t > 0.$$

We shall denote by  $\mathbb{Q}_x$  the law of  $R$  when it is started at  $x$  and we simply write  $\mathbb{Q}$  for  $x = 0$ . Next, for  $y$  and  $t \geq 0$ , the conditional measure  $\mathbb{Q}_{x,y}^t = \mathbb{Q}_x[\cdot | R_t = y]$ , viewed as a probability measure on  $\mathcal{C}([0, t], [0, \infty))$ , stands for the law of the 3-dimensional Bessel bridge starting at  $x$  and ending at  $y$  at time  $t$ . Since  $R$  is transient, we have  $\mathbb{Q}_{x,y}^t = \mathbb{Q}_x[\cdot | L_y = t]$  where  $L_y = \sup\{s \geq 0; R_s = y\}$ . Williams' time reversal relationship states that, for  $R_0 = 0, B_0 = x > 0$ , the processes  $(R_{L_x-s}, s \leq L_x)$  and  $(B_s, s \leq T_0)$  are equivalent, where  $T_0 = \inf\{s \geq 0; B_s = 0\}$ .

We continue by providing some recalls on Ornstein-Uhlenbeck processes (for short OU process). For an OU process, with parameter  $\lambda \in \mathbb{R}$ , the realization given by (2) is also the unique strong solution to

$$dU_t = dB_t - \lambda U_t dt, \quad U_0 = x \in \mathbb{R}. \quad (3)$$

Denote by  $\mathbb{P}_x^{(\lambda)}$  the law of  $U$  when  $U_0 = x \in \mathbb{R}$  and write simply  $\mathbb{P}^{(\lambda)}$  for  $\mathbb{P}_0^{(\lambda)}$ . By Girsanov's theorem,  $\mathbb{P}_x^{(\lambda)}$  is absolutely continuous with respect to the Wiener measure  $\mathbb{P}_x$  via

$$d\mathbb{P}_{x|\mathcal{F}_t}^{(\lambda)} = e^{-\frac{\lambda}{2}(B_t^2 - x^2 - t) - \frac{\lambda^2}{2} \int_0^t B_u^2 du} d\mathbb{P}_{x|\mathcal{F}_t}, \quad t > 0, \quad (4)$$

where  $(\mathcal{F}_t)_{t \geq 0}$  is the natural filtration of  $B$ . We obviously can write

$$\int_0^t e^{\lambda s} dB_s = W_{\tau(t)} \quad \text{and} \quad W_t = \int_0^{A(t)} e^{\lambda s} dB_s, \quad t \geq 0,$$

where  $\tau(t) = \frac{1}{2\lambda} (e^{2\lambda t} - 1)$ ,  $A(t) = \frac{1}{2\lambda} \log(1 + 2\lambda t)$ , and  $W$  is a Brownian motion thanks to the Lévy's characterization theorem, see [23]. Hence, Doob's representation

$$U_t = e^{-\lambda t} (x + W_{\tau(t)}), \quad t \geq 0, \quad (5)$$

holds. The relation between the stopping times  $\sigma_a$  and  $H_a^{(\lambda)}$ , discovered by Breiman [3] and recalled in the introduction, is a straightforward consequence of this fact. The process  $U$  is a linear diffusion. Moreover, when  $\lambda > 0$ , it is positively recurrent and its semi-group has a unique invariant measure which is the law of a centered Gaussian random variable with variance  $1/2\lambda$ . Next, for a fixed  $a \in \mathbb{R}$ , introduce the random variable  $\sigma_a = \inf\{s \geq 0; U_s = a\}$ . It is a stopping time which law is absolutely continuous with respect to the Lebesgue measure with a probability density function  $p_{x \rightarrow a}^{(\lambda)}$  i.e.  $\mathbb{P}_x^{(\lambda)}(\sigma_a \in$

$dt) = p_{x \rightarrow a}^{(\lambda)}(t) dt$ . For the Brownian motion, recovered by letting  $\lambda$  tend to 0, we recall that

$$p_{x \rightarrow a}(t) = \frac{|a-x|}{\sqrt{2\pi t^3}} e^{-\frac{(a-x)^2}{2t}}.$$

We are now ready to derive the expression of the Laplace transform of  $\sigma_a$ . This is a well-known result which could be found in Breiman [3]. However, we give a proof which relies on probabilistic arguments.

**Proposition 1.** *For any  $x, a \in \mathbb{R}$  and  $\beta \geq 0$ , we have*

$$\mathbb{E}_x [e^{-\beta\sigma_a}] = \frac{e^{\lambda x^2/2} D_{-\beta/\lambda}(\varepsilon x \sqrt{2\lambda})}{e^{\lambda a^2/2} D_{-\beta/\lambda}(\varepsilon a \sqrt{2\lambda})}, \quad (6)$$

where  $\varepsilon = \text{sgn}(x-a)$  and  $D_\nu$  stands for the parabolic cylinder function which admits the following integral representation

$$D_\nu(z) = \frac{2^{\frac{\nu+1}{2}} e^{-z^2/4}}{\Gamma(\frac{1-\nu}{2})} \int_0^\infty (t^2 + z^2)^{\nu/2} t^{-\nu} e^{-t^2/2} dt, \quad (7)$$

where  $\text{Re}(\nu) < 1, |\arg(z)| < \frac{\pi}{2}$ .

*Proof.* Doob's transformation implies the identity  $H_{x \rightarrow a} = \tau(\sigma_a)$  almost surely, where  $H_{x \rightarrow a} = \inf\{s \geq 0; W_s + x = a\sqrt{1+2\lambda s}\}$ . Specializing on  $a = 0$  we deduce that  $p_{x \rightarrow 0}^{(\lambda)}(t) = \tau'(t)p_{x \rightarrow 0}(\tau(t))$ . Hence, the expression

$$p_{x \rightarrow 0}^{(\lambda)}(t) = \frac{|x|}{\sqrt{2\pi}} \exp\left(-\frac{\lambda x^2 e^{-\lambda t}}{2 \sinh(\lambda t)} + \frac{\lambda t}{2}\right) \left(\frac{\lambda}{\sinh(\lambda t)}\right)^{3/2}. \quad (8)$$

It follows that

$$\begin{aligned} \mathbb{E}_x [e^{-\beta\sigma_0}] &= \int_0^\infty e^{-\beta t} \tau'(t) p_{x \rightarrow 0}(\tau(t)) dt \\ &= \frac{|x|}{\sqrt{2\pi}} \int_0^\infty (1+2\lambda t)^{-\beta/2\lambda} t^{-3/2} e^{-x^2/2t} dt \\ &= \frac{2}{\sqrt{\pi}} \int_0^\infty (t^2 + \lambda x^2)^{-\beta/2\lambda} t^{\beta/\lambda} e^{-t^2} dt. \end{aligned}$$

The strong Markov property yields the following identity

$$\sigma_{x \rightarrow 0} \stackrel{(d)}{=} \sigma_{x \rightarrow a} + \hat{\sigma}_{a \rightarrow 0}, \quad x \leq a \leq 0,$$

where  $\hat{\sigma}_{a \rightarrow 0}$  is an independent copy of  $\sigma_{a \rightarrow 0}$ . It follows that

$$\mathbb{E}_x [e^{-\beta\sigma_a}] = \frac{\int_0^\infty (t^2 + \lambda x^2)^{-\beta/2\lambda} t^{\beta/\lambda} e^{-t^2} dt}{\int_0^\infty (t^2 + \lambda a^2)^{-\beta/2\lambda} t^{\beta/\lambda} e^{-t^2} dt}.$$

By using the integral representation of the cylinder parabolic function (7), we get

$$\mathbb{E}_x [e^{-\beta\sigma_a}] = \frac{e^{\lambda x^2/2} D_{-\beta/\lambda}(-x\sqrt{2\lambda})}{e^{\lambda a^2/2} D_{-\beta/\lambda}(-a\sqrt{2\lambda})}, \quad x \leq a \leq 0.$$

Next, we observe that the symmetry of  $B$  in (2) allows to recover the case  $x \geq a \geq 0$ . The proof is then completed since we have computed the two functions, the increasing and decreasing one, which characterized the Laplace transform of  $\sigma_a$ , see Itô and McKean [11].

### 3 On the law of $(N_t^{(1)}(\mathbf{r}), N_t^{(2)}(\mathbf{r}))$

For any  $\beta > 0$ , we introduce the resolvent kernel, or the Green's function,  $G_\beta$  given, for  $\alpha \geq 0$  and  $\lambda$  real, by

$$G_\beta(x, y) dy = \int_0^\infty e^{-\beta t} \mathbb{E}_x \left[ e^{-\frac{\lambda^2}{2} N_t^{(2)}(R) - \alpha N_t^{(1)}(R)}, R_t \in dy \right] dt, \quad x, y \geq 0.$$

As we shall see below we have that  $G_\beta(x, y) = w_\beta^{-1} m(y) \phi_\beta(x \wedge y) \psi_\beta(x \vee y)$  where  $\phi_\beta$  (resp.  $\psi_\beta$ ) is the unique, up to some multiplicative positive constants, decreasing, positive and bounded at  $+\infty$  solution (res. increasing, positive and bounded at 0 solution) of the Sturm-Liouville equation

$$2^{-1} \varphi''(x) + x^{-1} \varphi'(x) - (2^{-1} \lambda^2 x^2 + \alpha x + \beta) \varphi(x) = 0, \quad x > 0. \quad (9)$$

Note that for the case  $\lambda = 0$  (resp.  $\alpha = 0$ ), the corresponding Green function is already known, see e.g. [2, Formula 5.1.8.5], (resp. Formula 5.1.9.5). For a fixed  $t \geq 0$ , let us introduce the notation

$$\Pi_{x \rightarrow y}^{\lambda, \alpha}(t) = \mathbb{E}_x \left[ e^{-\frac{\lambda^2}{2} N_t^{(2)}(R) - \alpha N_t^{(1)}(R)} \mid R_t = y \right], \quad x, y, \alpha \geq 0, \lambda \in \mathbb{R}.$$

We denote simply  $\Pi_x^{\lambda, \alpha}(t)$  (resp.  $\Pi^{\lambda, \alpha}(t)$ ) for  $\Pi_{x \rightarrow 0}^{\lambda, \alpha}(t)$  (resp.  $\Pi_{0 \rightarrow 0}^{\lambda, \alpha}(t)$ ).

*Remark 1.* We point out that, thanks to the scaling property of Bessel processes, we have the identity  $\Pi_{x \rightarrow y}^{\lambda, \alpha}(t) = \Pi_{\frac{x}{\sqrt{t}} \rightarrow \frac{y}{\sqrt{t}}}^{\lambda t^2, \alpha t^{3/2}}(1)$ .

#### 3.1 Stochastic approach for the case $y = 0$

In here we show how to exploit the results of the former section in order to compute  $\Pi_x^{\lambda, \alpha}(t)$ .

**Proposition 2.** For  $x, \lambda, \beta > 0$  and  $\alpha \geq 0$ , we have

$$\int_0^\infty e^{-\beta t} q_t(x, 0) \Pi_x^{\lambda, \alpha}(t) dt = \frac{1}{x} \frac{D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}} \left( \sqrt{2\lambda} \left( x + \frac{\alpha}{\lambda^2} \right) \right)}{D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}} \left( \sqrt{2\alpha} \lambda^{-3/2} \right)}.$$

Consequently, we have

$$\int_0^\infty (e^{-\beta t} - 1) \Pi_x^{\lambda, \alpha}(t) \frac{dt}{\sqrt{2\pi t^3}} = \sqrt{2\lambda} \left( \frac{D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}}^{(x)} \left( \sqrt{2\alpha} \lambda^{-3/2} \right)}{D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}} \left( \sqrt{2\alpha} \lambda^{-3/2} \right)} - \frac{D_{\frac{\alpha^2}{2\lambda^3} - \frac{1}{2}}^{(x)} \left( \sqrt{2\alpha} \lambda^{-3/2} \right)}{D_{\frac{\alpha^2}{2\lambda^3} - \frac{1}{2}} \left( \sqrt{2\alpha} \lambda^{-3/2} \right)} \right),$$

where  $D_\nu^{(x)}(y) = \frac{\partial D_\nu(x)}{\partial x} |_{x=y}$ .

*Proof.* We fix  $a = \alpha/\lambda^2$ , observe that

$$\Pi_x^{\lambda, a\lambda^2}(t) = e^{a^2\lambda^2 t/2} \mathbb{E}_x \left[ e^{-\frac{\lambda^2}{2} \int_0^t (R_u + a)^2 du} \mid R_t = 0 \right], \quad (10)$$

and recall that  $L_x = \sup\{s \geq 0; R_s = x\}$  and  $T_a = \inf\{s \geq 0; B_s = a\}$ . Following a line of reasoning similar to [7], we get

$$\mathbb{E}_x \left[ e^{-\frac{\lambda^2}{2} \int_0^t (R_u + a)^2 du} \mid R_t = 0 \right] = \mathbb{E}_{x+a} \left[ e^{-\frac{\lambda^2}{2} \int_0^t B_u^2 du} \mid T_a = t \right], \quad (11)$$

where we used the properties of Bessel bridges recalled in section 2. Now, thanks to the absolute-continuity relationship (4), we can write

$$p_{x+a \rightarrow a}^{(\lambda)}(t) = e^{\frac{\lambda}{2}(x^2 + 2ax + t)} \mathbb{E}_{x+a} \left[ e^{-\frac{\lambda^2}{2} \int_0^t B_u^2 du} \mid T_a = t \right] p_{x \rightarrow 0}(t). \quad (12)$$

A combination of (10), (11) and (12) leads to

$$e^{(\frac{1}{2}a^2\lambda^2 - \frac{\lambda}{2})t} p_{x+a \rightarrow a}^{(\lambda)}(t) = e^{\frac{\lambda}{2}x^2 + a\lambda x} p_{x \rightarrow 0}(t) \Pi_x^{\lambda, \alpha}(t).$$

By taking the Laplace transform with respect to the variable  $t$  on both sides and making use of (6) we get the first assertion. To prove the second one, it is enough to let  $x$  tend to 0 in the following formula

$$\int_0^\infty (e^{-\beta t} - 1) e^{-x^2/2t} \Pi_x^{\lambda, \alpha}(t) \frac{dt}{\sqrt{2\pi t^3}} = \frac{1}{x} \left( \frac{D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}} \left( \sqrt{2\lambda} \left( x + \frac{\alpha}{\lambda^2} \right) \right)}{D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}} \left( \sqrt{2\alpha} \lambda^{-3/2} \right)} - \frac{D_{-\frac{1}{2} + \frac{\alpha^2}{2\lambda^3}} \left( \sqrt{2\lambda} \left( x + \frac{\alpha}{\lambda^2} \right) \right)}{D_{-\frac{1}{2} + \frac{\alpha^2}{2\lambda^3}} \left( \sqrt{2\alpha} \lambda^{-3/2} \right)} \right).$$

Below, we give a straightforward reformulation of the previous result, which is based on the Laplace transform inversion formula. To this end, we recall the expression of the density of  $\sigma_a$  as a series expansion which can be found for instance in [1] and [17]. That is, for  $x$  and  $a$  reals, we have

$$p_{x \rightarrow a}^{(\lambda)}(t) = -\lambda e^{\lambda(x^2 - a^2)/2} \sum_{n=1}^{\infty} \frac{D_{\nu_{n,\varepsilon\sqrt{2\lambda}a}}(\varepsilon\sqrt{2\lambda}x)}{D_{\nu_{n,\varepsilon\sqrt{2\lambda}a}}^{(\nu)}(\varepsilon\sqrt{2\lambda}a)} e^{-\lambda\nu_{n,\varepsilon\sqrt{2\lambda}a}t}, \quad (13)$$

where we set  $\varepsilon = \text{sgn}(x - a)$ ,  $D_{\nu_{n,b}}^{(\nu)}(b) = \frac{\partial D_{\nu}(b)}{\partial \nu}|_{\nu=\nu_{n,b}}$  and the sequence  $(\nu_{j,b})_{j \geq 0}$  stands for the ordered positive zeros of the function  $\nu \rightarrow D_{\nu}(b)$ .

**Corollary 1.** For  $\lambda, x, t > 0$  and  $\alpha \geq 0$ , we have

$$\Pi_x^{\lambda,\alpha}(t) = -\frac{\lambda}{x} \sqrt{2\pi t^3} e^{\left(\frac{\alpha^2}{\lambda^2} - \lambda\right)t/2 + x^2/2t} \sum_{n=1}^{\infty} \frac{D_{\nu_{n,c}}\left(\sqrt{2\lambda}\left(x + \frac{\alpha}{\lambda^2}\right)\right)}{D_{\nu_{n,c}}^{(\nu)}\left(\sqrt{2\alpha}\lambda^{-3/2}\right)} e^{-t\lambda\nu_{n,c}}, \quad (14)$$

where we set  $c = \sqrt{2\alpha}\lambda^{-3/2}$ .

The proof is omitted and left to the reader.

### 3.2 Extension to $y > 0$ using Feynman-Kac formula

Our aim here is to provide an extension of the previous result to any positive reals  $y$  by using the Feynman-Kac formula.

**Proposition 3.** For  $y, x, \beta, \lambda > 0$  and  $\alpha \geq 0$ , we have

$$\int_0^{\infty} e^{-\beta t} q_t(x, y) \Pi_{x \rightarrow y}^{\lambda,\alpha}(t) dt = \frac{\Gamma\left(\frac{\beta}{\lambda} + \frac{1}{2} - \frac{\alpha^2}{2\lambda^3}\right)y}{\sqrt{\lambda\pi} D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}}(\alpha\lambda^{-2/3})x} \times \\ S_{-\frac{\beta}{2\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}}\left(\sqrt{2\lambda}(x \wedge y + \frac{\alpha}{\lambda^2}), \sqrt{2\alpha}\lambda^{2/3}\right) D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}}\left(\sqrt{2\lambda}(x \vee y + \frac{\alpha}{\lambda^2})\right),$$

where  $S_{\alpha}(x, y) = D_{\alpha}(-x)D_{\alpha}(y) - D_{\alpha}(x)D_{\alpha}(-y)$ .

*Proof.* We shall prove our statement by following a method which is similar to that used by Shepp [26]. Set  $F_{\varepsilon}^y(x) = \frac{1}{2\varepsilon} \mathbb{I}_{\{|x-y| < \varepsilon\}}$  and  $a(x) = \left(\frac{\lambda^2}{2}x^2 + \alpha x + \beta\right)$ . First, note that

$$\lim_{\varepsilon \rightarrow 0} \mathbb{E}_x \left[ \int_0^{\infty} e^{-\beta t} e^{-\int_0^t a(R_s) ds} F_{\varepsilon}^y(R_t) dt \right] = \int_0^{\infty} e^{-\beta t} q_t(x, y) \Pi_{x \rightarrow y}^{\lambda,\alpha}(t) dt.$$

Then, the Feynman-Kac formula states that

$$u_{\varepsilon}(x) = \mathbb{E}_x \left[ \int_0^{\infty} e^{-\beta t} e^{-\int_0^t a(R_s) ds} F_{\varepsilon}^y(R_t) dt \right]$$

is the bounded solution of

$$\frac{1}{2}u''_\epsilon(x) + \frac{1}{x}u'_\epsilon(x) - a(x)u_\epsilon(x) = F_\epsilon^y(x), \quad x > 0. \quad (15)$$

In order to solve this equation, we first consider the following homogeneous one

$$\frac{1}{2}u''(x) + \frac{1}{x}u'(x) - a(x)u(x) = 0, \quad x > 0.$$

Setting  $u(x) = x^{-1}v(x)$ , we get that  $v$  satisfies the Weber equation

$$\frac{1}{2}v''(x) = \left( \frac{\lambda^2}{2}\bar{x}^2 - \frac{\alpha^2}{2\lambda^2} + \beta \right) v(x), \quad x > 0, \quad (16)$$

where  $\bar{x} = x + \frac{\alpha}{\lambda^2}$ . A fundamental solution of (16) is expressed in terms of the parabolic cylinder function  $D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}}(\sqrt{2\lambda\bar{x}})$ , see e.g. [8]. Thus, the solution of (16) which is positive and decreasing is given by

$$\varphi(x) = x^{-1}D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}}(\sqrt{2\lambda\bar{x}}), \quad x > 0.$$

The solution of (16) which is positive and increasing has the form

$$\psi(x) = x^{-1} \left( c_1 D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}}(-\sqrt{2\lambda\bar{x}}) + c_2 D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}}(\sqrt{2\lambda\bar{x}}) \right),$$

where  $c_1$  and  $c_2$  are constants. With the choice  $c_1 = D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}}(\sqrt{2\alpha\lambda^{-\frac{3}{2}}})$  and  $c_2 = -D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}}(-\sqrt{2\alpha\lambda^{-\frac{3}{2}}})$ , we check that  $\psi(x)$  is bounded at 0. The two solutions are linearly independent and their Wronskian, normalized by the derivative of the scale function  $s'(x) = x^{-2}$ , is given by

$$w_\beta = D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}}(\sqrt{2\alpha\lambda^{-\frac{3}{2}}}) w_\beta^D$$

where  $w_\alpha^D = \frac{2\sqrt{\lambda\pi}}{\Gamma(\frac{\beta}{\lambda} + \frac{1}{2} - \frac{\alpha^2}{2\lambda^3})}$  is the Wronskian of the cylinder parabolic functions. Next, we recall the Green formula for the solution of the nonhomogeneous ode (15), that is with second member given by  $F_\epsilon^y$

$$u_\epsilon(x) = \frac{1}{w_\beta} \left( \varphi(x) \int_0^x \psi(r) F_\epsilon^y(r) m(dr) + \psi(x) \int_x^\infty \varphi(r) F_\epsilon^y(r) m(dr) \right),$$

where we recall that the speed measure  $m$  of the 3-dimensional Bessel process is  $m(dr) = 2r^2 dr$ . The proof is then completed by passing to the limit as  $\epsilon$  tends to 0.

*Remark 2.* Observing that  $\lim_{x \rightarrow 0} x^{-1} S_\alpha(x, y) = w_\alpha^D$ , we recover the result of Proposition 2.

*Remark 3.* In the same vein than Corollary 1, it is possible to derive an expression of the joint Laplace transform  $\Pi_{x \rightarrow y}^{\lambda, \alpha}(t)$  as a series expansion.



## 4 Connection between the law of first passage times

Let  $\lambda > 0$  and introduce the function  $f_\delta(\lambda t) = \delta g(\lambda t) - \mu \lambda t - y$  where  $g$  is a twice continuously differentiable function on a neighborhood of 0, and  $\alpha, \mu$  and  $y$  are some reals. Let  $Z$  be a continuous time stochastic process. Introduce the stopping times

$$\begin{aligned} T_{y,\mu}^\delta &= \inf\{s \geq 0; Z_s = f_\delta(\lambda s)\} \\ L^\alpha &= \inf\{s \geq 0; Z_s = \alpha s\} \\ S^\alpha &= \inf\{s \geq 0; Z_s = -\frac{\alpha}{2}s^2\}. \end{aligned}$$

We shall describe a device which allows to connect the law of the first passage times  $T_{y,\mu}^\delta$ , simply denoted by  $T_y^\delta$  for  $\mu = 0$ , to the linear boundary and to the quadratic one. As an application, we shall apply this technique to the Brownian motion case and derive some limits results of the cylinder parabolic functions. This limit result can also be used as a test for checking the validity of the hitting time densities.

**Proposition 4.** *Let  $\delta_\lambda^{(1)} = \alpha/\lambda$ . Assume  $g'(0) \neq 0$ , then*

$$\lim_{\lambda \rightarrow 0} T_{\delta_\lambda^{(1)}g(0)}^{\delta_\lambda^{(1)}} = L^{\alpha g'(0)} \quad a.s.. \quad (17)$$

*Next, let  $\delta_\lambda^{(2)} = \alpha/\lambda^2$ . Assume  $g''(0) \neq 0$ , then*

$$\lim_{\lambda \rightarrow 0} T_{\delta_\lambda^{(2)}g(0), \delta_\lambda^{(2)}g'(0)}^{\delta_\lambda^{(2)}} = S^{-\alpha g''(0)} \quad a.s.. \quad (18)$$

*Proof.* The assertions follows from the following expansion

$$f_{\delta_\lambda}(\lambda t) = \delta_\lambda g(0) - y + \lambda(\delta_\lambda g'(0) - \mu)t + \frac{\lambda^2}{2}\delta_\lambda g''(0)t^2 + o(\lambda^2).$$

### 4.1 Brownian motion and the square root boundary

We apply the previous technique to the first passage time of the Brownian motion over the curve  $f_\delta(\lambda t) = \delta\sqrt{1+2\lambda t} - \mu\lambda t - y$  in order to evaluate some well known limits of the ratio of parabolic cylinder functions.

#### Linear case

In this case, we set  $\mu = 0$  and  $\delta = y = \alpha/\lambda$  and state the following result.

**Corollary 2.** *Let  $\beta > 0$ ,  $x, \alpha \in \mathbb{R}$  then we have*

$$\lim_{\lambda \rightarrow 0} \frac{D_{-\frac{\beta}{2\lambda}}\left(\sqrt{2\lambda}\left(x + \frac{\alpha}{\lambda}\right)\right)}{D_{-\frac{\beta}{2\lambda}}\left(\sqrt{2\alpha}\lambda^{-1/2}\right)} = e^{-|x|\sqrt{\alpha^2+2\beta}}.$$

As a consequence, we also have

$$\lim_{\lambda \rightarrow 0} \lambda e^{\lambda(x^2 - 2\frac{\alpha}{\lambda}x)/2} \sum_{n=1}^{\infty} \frac{D_{\nu_{n, \frac{\alpha}{\lambda}} \sqrt{2\lambda}}(\sqrt{2\lambda}x)}{D_{\nu_{n, \frac{\alpha}{\lambda}} \sqrt{2\lambda}}^{(\nu)}(\sqrt{2\alpha}\lambda^{-1/2})} e^{-\lambda \nu_{n, \frac{\alpha}{\lambda}} \sqrt{2\lambda} t} = \frac{x}{\sqrt{2\pi t^3}} e^{-\frac{1}{2t}(x-\alpha t)^2}.$$

*Proof.* First, by combining Doob's transformation with Proposition 1, we recover the result of Breiman [3] about the Melin transform of  $T_\delta^\delta$

$$\mathbb{E}_x \left[ (1 + 2\lambda T_\delta^\delta)^{-\beta/2\lambda} \right] = e^{\alpha x} \frac{D_{-\frac{\beta}{2\lambda}} \left( \sqrt{2\lambda} \left( x + \frac{\alpha}{\lambda} \right) \right)}{D_{-\frac{\beta}{2\lambda}} \left( \sqrt{2\alpha} \lambda^{-1/2} \right)}.$$

Next, recall that the Laplace transform of  $L^\alpha$  is specified by, see e.g. [13, p.197],

$$\mathbb{E}_x \left[ e^{-\beta L^\alpha} \right] = e^{\alpha x - |x| \sqrt{\alpha^2 + 2\beta}}.$$

The statement follows readily from Proposition 4.

### Quadratic case

In what follows, we investigate the second order expansion. We start by computing the law of  $S^\alpha$ , the first passage time of the Brownian motion over the second order boundary. In the case  $x\alpha > 0$ , its law has been computed by Groeneboom [9] and Salminen [24] in terms of the Airy function, see e.g. [15]. For the sake of completeness we recall their approach.

**Lemma 1.** *For  $\beta$  and  $\alpha, x > 0$ , hold the relations*

$$\mathbb{E}_x \left[ e^{-\beta S^\alpha} G(S^\alpha) \right] = \frac{Ai \left( 2^{1/3} \frac{\beta + \alpha x}{\alpha^{2/3}} \right)}{Ai \left( 2^{1/3} \frac{\beta}{\alpha^{2/3}} \right)}$$

where  $G(t) = e^{\frac{1}{6}\alpha^2 t^3}$  and

$$\mathbb{P}_x(S^\alpha \in dt) = (2\alpha^2)^{1/3} e^{-\frac{1}{6}\alpha^2 t^3} \sum_{k=0}^{\infty} \frac{Ai(z_k - (2\alpha)^{1/3})}{Ai'(z_k)} e^{2^{-1/3}\alpha^{2/3} z_k t} dt,$$

where  $(z_k)_{k \geq 0}$  is the decreasing sequence of negative zeros of the Airy function.

*Proof.* Let us denote by  $\mathbb{P}^\alpha$  the law of the process  $(B_t + \frac{\alpha}{2}t^2, t \geq 0)$ . We have the following absolute continuity relationship

$$\begin{aligned} d\mathbb{P}_{x|\mathcal{F}_t}^\alpha &= e^{\alpha \int_0^t s dB_s - \frac{\alpha^2}{6}t^3} d\mathbb{P}_{x|\mathcal{F}_t} \\ &= e^{\alpha t B_t - \alpha \int_0^t B_s ds - \frac{\alpha^2}{6}t^3} d\mathbb{P}_{x|\mathcal{F}_t}, \quad t > 0, \end{aligned}$$

where the last line follows from Itô's formula. An application of the Doob's optional stopping theorem yields

$$\mathbb{E}_x \left[ e^{-\beta S^\alpha} G(S^\alpha) \right] = \mathbb{E}_x \left[ e^{-\beta T_0 - \alpha \int_0^{T_0} B_s ds} \right].$$

As in the previous section, the expectation on the right hand side can be computed via the Feynman-Kac formula. It is the solution to the boundary value problem

$$\begin{aligned} \frac{1}{2} u''(x) - (\alpha x + \beta) u(x) &= 0, \quad x > 0, \\ u(0) &= 1, \quad \lim_{x \rightarrow \infty} u(x) = 0, \end{aligned}$$

which is given in terms of the Airy function, see e.g. [12]. The expression of the density is a consequence of the Laplace transform inversion formula and the residues theorem, see [9] or [24] for more details.

*Remark 4.* By analogy to the results of section 3, we have

$$\begin{aligned} \lim_{\lambda \rightarrow 0} \int_0^\infty e^{-\beta t} q_t(x, 0) \Pi_x^{\lambda, \alpha}(t) dt &= \frac{Ai\left(2^{1/3} \frac{\beta + \alpha x}{\alpha^{2/3}}\right)}{Ai\left(2^{1/3} \frac{\beta}{\alpha^{2/3}}\right)}, \\ \Pi_x^{0, \alpha}(t) &= \sqrt{2\pi t^3} e^{\frac{x^2}{2t}} (2\alpha^2)^{1/3} \sum_{k=0}^\infty \frac{Ai(z_k - (2\alpha)^{1/3})}{Ai'(z_k)} e^{(\frac{\alpha^2}{2})^{1/3} z_k t} dt \end{aligned}$$

and finally

$$\int_0^\infty (e^{-\beta t} - 1) \Pi^{0, \alpha}(t) \frac{dt}{\sqrt{2\pi t^3}} = (2\alpha)^{1/3} \left( \frac{Ai'\left(2^{1/3} \frac{\beta}{\alpha^{2/3}}\right)}{Ai\left(2^{1/3} \frac{\beta}{\alpha^{2/3}}\right)} - \frac{Ai'(0)}{Ai(0)} \right).$$

*Remark 5.* We mention that the other case, i.e.  $\alpha x < 0$ , has been studied by Martin-Löf [19].

Next, we define the process  $(U_t^{(\mu)}, t \geq 0)$  as the solution to the stochastic differential equation

$$dU_t^{(\mu)} = \left( -\lambda U_t^{(\mu)} + \mu e^{\lambda t} \right) dt + dB_t, \quad U_0^{(\mu)} = x \in \mathbb{R}.$$

Note that  $X^{(\mu)}$  can also be expressed as follows

$$U_t^{(\mu)} = e^{-\lambda t} \left( x - \frac{\mu}{2\lambda} + \frac{\mu}{2\lambda} e^{2\lambda t} + \int_0^t e^{\lambda s} dB_s \right), \quad t \geq 0.$$

For reals numbers  $x$  and  $a$ , we introduce the stopping time  $\sigma_a^{(\mu)} = \inf\{s \geq 0; U_s^{(\mu)} = a\}$  and denote by  $p_{x \rightarrow a}^{(\lambda, \mu)}(t)$  its density. Let us also introduce the function  $G_\lambda(t) = e^{\frac{\mu^2}{2} \tau_t - \mu e^{\lambda t} a}$ ,  $t \geq 0$ . The law of  $\sigma_a^{(\mu)}$  is characterized in the following.

**Proposition 5.** For  $\beta > 0$ , we have

$$\mathbb{E}_x \left[ e^{-\beta \sigma_a^{(\mu)}} G_\lambda(\sigma_a^{(\mu)}) \right] = \frac{e^{\lambda x^2/2 - \mu x} D_{-\frac{\beta}{\lambda}} \left( \varepsilon x \sqrt{2\lambda} \right)}{e^{\lambda a^2/2} D_{-\frac{\beta}{\lambda}} \left( \varepsilon a \sqrt{2\lambda} \right)}. \quad (19)$$

where we set  $\varepsilon = \text{sgn}(x - a)$ . In particular,

$$p_{x \rightarrow 0}^{(\lambda, \mu)}(t) = \frac{|x|}{\sqrt{2\pi}} e^{-\mu e^{\lambda t} \left( \frac{\mu}{2} \sinh(\lambda t) - a \right) - \mu x - \frac{\lambda x^2 e^{-\lambda t}}{2 \sinh(\lambda t)} + \frac{\lambda t}{2}} \left( \frac{\lambda}{\sinh(\lambda t)} \right)^{3/2}. \quad (20)$$

*Proof.* The first assertion follows from the following absolutely continuity relationship

$$d\mathbb{P}_{x|\mathcal{F}_t}^{(\lambda, \mu)} = e^{\mu e^{\lambda t} X_t - \mu x - \frac{\mu^2}{2} \tau_t} d\mathbb{P}_{x|\mathcal{F}_t}^{(\lambda)}, \quad t > 0 \quad (21)$$

and the application of the Doob's optional stopping theorem. We point out that the exponential martingale is the one associated with the Gaussian martingale  $(B_{\tau(t)}, t \geq 0)$ . The expression of the density in the case  $a = 0$  is obtained from the Laplace inversion formula of the parabolic cylinder function, see formula (8).

*Remark 6.* An expression of the density  $p_{x \rightarrow a}^{(\lambda, \mu)}(t)$  is given in Daniels [4] as a contour integral. The author used a technique suggested by Shepp [25].

Let us now introduce the stopping times  $H_{x \rightarrow a}^{(\lambda, \mu)} = \inf\{s \geq 0; x + B_s + \mu s = a\sqrt{1 + 2\lambda s}\}$  and  $S_x^\alpha = \inf\{s \geq 0; B_s + x = -\frac{\alpha}{2}s^2\}$ . We denote by  $p_{x \rightarrow a}^{(\lambda, \mu)}$  (resp.  $q_x^\alpha$ ) the density of  $H_{x \rightarrow a}^{(\lambda, \mu)}$  (resp.  $S_x^\alpha$ ). We proceed by giving some relationships between these different hitting times.

$$H_{x \rightarrow a}^{(\lambda, \mu)} = \tau(\sigma_{x \rightarrow a}^{(\lambda, \mu)}) \quad a.s., \quad (22)$$

$$\lim_{\lambda \rightarrow 0} H_{x + \frac{\alpha}{\lambda^2} \rightarrow \frac{\alpha}{\lambda^2}}^{(\lambda, \frac{\alpha}{\lambda})} = S_x^\alpha \quad a.s.. \quad (23)$$

We are now ready to state the following limit result which can be found for instance in [5].

**Corollary 3.** For  $\beta, \alpha$  and  $x > 0$ , we have

$$\lim_{\lambda \rightarrow 0} \frac{D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}} \left( \sqrt{2\lambda} \left( x + \frac{\alpha}{\lambda^2} \right) \right)}{D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}} \left( \sqrt{2\alpha} \lambda^{-3/2} \right)} = \frac{Ai \left( 2^{1/3} \frac{\beta + \alpha x}{\alpha^{2/3}} \right)}{Ai \left( 2^{1/3} \frac{\beta}{\alpha^{2/3}} \right)}$$

*Proof.* Substituting  $\beta$  by  $\beta - \frac{\alpha^2}{2\lambda^2}$ ,  $x$  by  $x + \frac{\alpha}{\lambda^2}$  and setting  $a = \frac{\alpha}{\lambda^2}$  and  $\mu = \frac{\alpha}{\lambda}$  in (19), we get

$$\frac{D_{-\frac{\beta}{\lambda} + \frac{\alpha^2}{2\lambda^3}} \left( \sqrt{2\lambda} \left( x + \frac{\alpha}{\lambda^2} \right) \right)}{D_{-\frac{\beta}{\lambda} + \frac{\alpha^2}{2\lambda^3}} \left( \sqrt{2\alpha} \lambda^{-3/2} \right)} = e^{-\frac{\lambda}{2} x^2 + \frac{\alpha^2}{\lambda^3}} \int_0^\infty e^{-(\beta - \frac{\alpha^2}{2\lambda^2})t + \frac{\alpha^2}{2\lambda^2} \tau_t - \frac{\alpha^2}{\lambda^3} e^{\lambda t}} p_{x + \frac{\alpha}{\lambda^2} \rightarrow \frac{\alpha}{\lambda^2}}^{(\lambda, \frac{\alpha}{\lambda})}(t) dt$$

Note that  $\tau \left( H_{x + \frac{\alpha}{\lambda^2} \rightarrow \frac{\alpha}{\lambda^2}}^{(\lambda, \alpha/\lambda)} \right) \rightarrow S_x^\alpha$  a.s., as  $\lambda \rightarrow 0$ . Thus, we have

$$\begin{aligned} \lim_{\lambda \rightarrow 0} e^{-\frac{\lambda}{2} x^2 + \frac{\alpha^2}{\lambda^3}} \int_0^\infty e^{-(\beta - \frac{\alpha^2}{2\lambda^2})t + \frac{\alpha^2}{2\lambda^2} \tau_t - \frac{\alpha^2}{\lambda^3} e^{\lambda t}} p_{x + \frac{\alpha}{\lambda^2} \rightarrow \frac{\alpha}{\lambda^2}}^{(\lambda, \frac{\alpha}{\lambda})}(t) dt \\ = \int_0^\infty e^{-\beta t + \frac{1}{6} \alpha^2 t^3} q_x^\alpha(t) dt \\ = \frac{Ai \left( 2^{1/3} \frac{\beta + \alpha x}{\alpha^{2/3}} \right)}{Ai \left( 2^{1/3} \frac{\beta}{\alpha^{2/3}} \right)}. \end{aligned}$$

where the last line follows from Lemma 1.

*Remark 7.* We mention that Lachal [14] get the following identity

$$\mathbb{E}_x \left[ e^{-\beta \sigma_0 - \alpha \int_0^{\sigma_0} U_s ds} \right] = e^{\frac{\lambda}{2} x^2} \frac{D_{-\frac{\beta}{\lambda} + \frac{\alpha^2}{2\lambda^3}} \left( \sqrt{2\lambda} \left( x + \frac{\alpha}{\lambda^2} \right) \right)}{D_{-\frac{\beta}{\lambda} + \frac{\alpha^2}{2\lambda^3}} \left( \sqrt{2\alpha} \lambda^{-3/2} \right)}$$

which gives the following relationship

$$\int_0^\infty e^{-\beta t - x^2/2t} t^{-3/2} \Pi_x^{\lambda, \alpha, (1)}(t) dt = e^{-\frac{\lambda}{2} x^2} \mathbb{E}_x \left[ e^{-(\beta + \frac{\lambda}{2}) \sigma_0 - \alpha \int_0^{\sigma_0} U_s ds} \right].$$

We also indicate that the author computed the limit as  $\lambda \rightarrow 0$  to recover the result of Lefebvre [16] stating that

$$\mathbb{E}_x \left[ e^{-\beta T_0 - \alpha \int_0^{T_0} B_s ds} \right] = \frac{Ai \left( 2^{1/3} \frac{\beta + \alpha x}{\alpha^{2/3}} \right)}{Ai \left( 2^{1/3} \frac{\beta}{\alpha^{2/3}} \right)}.$$

In order to compute the expression of the limit of the Laplace transform, he used an asymptotic result of the cylinder parabolic function which has been derived by the steepest descent method in [5].

## 4.2 Another limit

From Proposition 2, we readily derive

$$\lim_{\alpha \rightarrow 0} \int_0^\infty e^{-\beta t} x e^{-x^2/2t} \Pi_x^{\lambda, \alpha}(t) \frac{dt}{\sqrt{2\pi t^3}} = \frac{D_{-\frac{\beta}{\lambda} - \frac{1}{2}}(\sqrt{2\lambda}x)}{D_{-\frac{\beta}{\lambda} - \frac{1}{2}}(0)}.$$

We recall and show the following well known results regarding the Laplace transform of the  $L^2$  norm of Bessel bridges. In conjunction with (8), we extract the relationship

$$\Pi_x^\lambda(t) = \left( \frac{\lambda t}{\sinh(\lambda t)} \right)^{\frac{3}{2}} e^{-\frac{x^2}{2t}(\lambda t \coth(\lambda t) - 1)}. \quad (24)$$

Since in this case the zeros of the function  $\nu \mapsto D_\nu(0) = 2^\nu \frac{\Gamma(\frac{1}{2})}{\Gamma(\frac{1-\nu}{2})}$  correspond to the odd poles of the  $\Gamma$  function, we also have

$$\Pi_x^\lambda(t) = -\frac{\lambda}{x} \sqrt{2\pi t^3} e^{\frac{x^2}{2t}} \sum_{n=1}^{\infty} \frac{D_{2n+1}(x\sqrt{2\lambda})}{D_{2n+1}^{(\nu)}(0)} e^{-2(n+1)\lambda t}.$$

We precise that from the expression (24), it is easy to derive the Generalized Lévy stochastic area formula, see e.g. [22]. Indeed for any  $\delta > 0$ , denoting by  $\Pi_x^{\lambda, (\delta)}$  the Laplace transform of the  $L^2$  norm of a  $\delta$ -dimensional Bessel process, thanks to the additivity property of the squared Bessel processes, we have

$$\Pi_x^{\lambda, (\delta)}(t) = \left( \frac{\lambda t}{\sinh(\lambda t)} \right)^{\frac{\delta}{2}} e^{-\frac{x^2}{2t}(\lambda t \coth(\lambda t) - 1)}. \quad (25)$$

In [6] the inverse of the Laplace transform  $\Pi_x^{\lambda, (\delta)}(t)$  is given in terms of the parabolic cylinder functions.

## 5 Comments and some applications

Our aim here is first to examine the law of the studied functional when the fixed time  $T$  is replaced by some interesting stopping times. To a stopping time  $S$  we associate the following notation

$$\Sigma_x^{(\delta)}(S) = \mathbb{E}_x^{(\delta)} \left[ e^{-\beta S - \frac{\lambda^2}{2} \int_0^S R_u^2 du - \alpha \int_0^S R_u du} \right],$$

where  $\beta, \lambda > 0$ ,  $\alpha \geq 0$  and  $\mathbb{E}_x^{(\delta)}$  denotes the expectation operator derived from  $\mathbb{Q}_x^\delta$ , the law of the  $\delta$ -dimensional Bessel process starting from  $x \geq 0$ .

Next, with  $H_y = \inf\{s \geq 0; R_s = y\}$  and  $S = H_y$ , we state the following result.

**Proposition 6.** *Let  $x \geq y > 0$ .*

$$\Sigma_x^{(3)}(H_y) = \frac{y}{x} \frac{D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}}(\sqrt{2\lambda}(x + \alpha\lambda^{-2}))}{D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}}(\sqrt{2\lambda}(y + \alpha\lambda^{-2}))}. \quad (26)$$

*Proof.* First, we recall the following absolute continuity relationship

$$d\mathbb{P}_{x|\mathcal{F}_t} = (R_t/x)^{-1} d\mathbb{Q}_{x|\mathcal{F}_t}^{(3)}, \quad \text{on } \{H_0 > t\},$$

Then observe that  $H_y < H_0$  a.s. since  $x \geq y$ . Next, denote by  $\sigma_x^{(\mu)}$  the first passage time to a fixed level  $x \in \mathbb{R}$  of the OU process when the Brownian motion in the SDE (3) is replaced by a Brownian motion with drift  $\mu \in \mathbb{R}$ . The determination of its density, denoted by  ${}^{(\mu)}p_{x \rightarrow a}^{(\lambda)}(t)$ , can be reduced to the case  $\mu = 0$  as follows

$${}^{(\mu)}p_{x \rightarrow a}^{(\lambda)}(t) = p_{x - \frac{\mu}{\lambda} \rightarrow a - \frac{\mu}{\lambda}}^{(\lambda)}(t), \quad t > 0.$$

Thus, we have

$$\begin{aligned} \Sigma_x^{(3)}(H_y) &= \mathbb{E}_x^{(3)} \left[ e^{-\beta H_y - \frac{\lambda^2}{2} \int_0^{H_y} R_s^2 ds - \alpha \int_0^{H_y} R_s ds} \right] \\ &= \frac{y}{x} \mathbb{E}_x \left[ e^{-\beta T_y - \frac{\lambda^2}{2} \int_0^{T_y} B_s^2 ds - \alpha \int_0^{T_y} B_s ds} \right] \\ &= \frac{y}{x} e^{\frac{\lambda}{2}(y^2 - x^2)} \mathbb{E}_x \left[ e^{-(\beta + \frac{\lambda}{2})\sigma_y - \alpha \int_0^{\sigma_y} U_s ds} \right] \\ &= \frac{y}{x} e^{\frac{\lambda}{2}(y^2 - x^2) + \frac{\alpha}{\lambda}(y-x)} \mathbb{E}_x \left[ e^{-(\beta + \frac{\lambda}{2} - \frac{\alpha^2}{2\lambda^2})\sigma_y^{(\frac{\alpha}{\lambda})}} \right] \\ &= \frac{y}{x} \frac{D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}} \left( \sqrt{2\lambda}(x + \alpha\lambda^{-2}) \right)}{D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}} \left( \sqrt{2\lambda}(y + \alpha\lambda^{-2}) \right)}. \end{aligned}$$

**Corollary 4.** For any  $x \geq y > 0$ , we have

$$\Sigma_x^{(1)}(H_y) = \frac{D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}} \left( \sqrt{2\lambda}(x + \alpha\lambda^{-2}) \right)}{D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}} \left( \sqrt{2\lambda}(y + \alpha\lambda^{-2}) \right)}. \quad (27)$$

*Proof.* The result follows from the absolute continuity relationship

$$d\mathbb{Q}_{x|\mathcal{F}_t}^{(1)} = (R_t/x)^{-1} d\mathbb{Q}_{x|\mathcal{F}_t}^{(3)}, \quad \text{on } \{H_0 > t\},$$

where  $\mathbb{Q}^1$  stands for the law of the reflected Brownian motion and  $H_0$  is the first time when the canonical process hits 0.

Next, let  $(\tau_t, t \geq 0)$  be defined as the right continuous inverse process of the local time  $(l_t, t \geq 0)$  at 0 of the reflected Brownian motion. It is a stable subordinator, its Laplace exponent is given by

$$\mathbb{Q}^{(1)} [e^{-\beta\tau_t}] = e^{-t\sqrt{2\beta}}.$$

We denote by  $n$  and  $(e_u, 0 \leq u \leq V)$  the Itô's measure associated with  $R^1$  and the generic excursion process under  $n$  respectively. We recall that with the choice of the normalization of the local time via the occupation formula with respect to the speed measure, we have  $n(V \in dt) = \frac{dt}{\sqrt{2\pi t^3}}$ , see e.g [10].

**Proposition 7.** *Let  $\alpha, \beta \geq 0$  and  $\lambda > 0$ .*

$$-\log \left( \Sigma^{(1)}(\tau_1) \right) = \sqrt{2\lambda} \frac{D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}}^{(x)} \left( \sqrt{2\alpha} \lambda^{-3/2} \right)}{D_{-\frac{\beta}{\lambda} - \frac{1}{2} + \frac{\alpha^2}{2\lambda^3}} \left( \sqrt{2\alpha} \lambda^{-3/2} \right)}. \quad (28)$$

*Proof.* From the exponential formula of excursions theory, see e.g. [23] and the fact that conditionally on  $V = t$  the process  $(e_u, u \leq V)$  is a 3-dimensional Bessel bridge over  $[0, t]$  between 0 and 0. We get

$$\begin{aligned} -\log \left( \Sigma^{(1)}(\tau_1) \right) &= \int n(de) \left( 1 - e^{-\beta V - \frac{\lambda^2}{2} \int_0^V e_u^2 du - \alpha \int_0^V e_u du} \right) \\ &= \int_0^\infty (1 - e^{-\beta t} \Pi^{\lambda, \alpha}(t)) \frac{dt}{\sqrt{2\pi t^3}}. \end{aligned}$$

Next, set  $K(\beta) = \int_0^\infty (1 - e^{-\beta t} \Pi^{\lambda, \alpha}(t)) \frac{dt}{\sqrt{2\pi t^3}}$ . Thus, we have

$$K(\beta) - K(0) = \int_0^\infty (1 - e^{-\beta t}) \Pi^{\lambda, \alpha}(t) \frac{dt}{\sqrt{2\pi t^3}}.$$

The statement follows from Proposition 2.

Finally, we shall extend the above computations to the radial part of a  $\delta$ -dimensional Ornstein-Uhlenbeck process, denoted by  $X$ , with parameter  $\theta \in \mathbb{R}^+$ . The law of this process, when started at  $x > 0$ , is denoted by  $\mathbb{P}_x^{(\theta), \delta}$ . Girsanov's theorem gives

$$d\mathbb{P}_{x|\mathcal{F}_t}^{(\theta), \delta} = e^{-\frac{\theta}{2}(R_t^2 - x^2 - \delta t) - \frac{\theta^2}{2} \int_0^t R_u^2 du} d\mathbb{Q}_{x|\mathcal{F}_t}^\delta, \quad t > 0. \quad (29)$$

We also shall need the densities of its semi-group which are given by, see [2],

$$\begin{aligned} p_t^{(3)}(0, x) &= \frac{\theta^{3/2} e^{\frac{3}{2}\theta t}}{\sqrt{2\pi}(\sinh(\theta t))^{3/2}} e^{-\frac{\theta x^2 e^{-\theta t}}{2\sinh(\theta t)}} \\ p_t^{(1)}(0, x) &= \frac{\theta^{1/2} e^{\frac{1}{2}\theta t}}{\sqrt{2\pi}(\sinh(\theta t))^{1/2}} e^{-\frac{\theta x^2 e^{-\theta t}}{2\sinh(\theta t)}}, \quad x > 0. \end{aligned}$$

With the obvious notations, for a fixed  $t \geq 0$ , we set

$$A_{x \rightarrow y}^{\lambda, \alpha, (\delta)}(t) = \mathbb{E}_x^\delta \left[ e^{-\frac{\lambda^2}{2} \int_0^t X_u^2 du - \alpha \int_0^t X_u du} \mid X_t = y \right], \quad \lambda, x \text{ and } \alpha \geq 0.$$

**Proposition 8.** *Set  $\kappa = \lambda^2 + \theta^2$ ,  $\omega_1 = \beta + \frac{\theta}{2}$  and  $\omega_3 = \beta + \frac{3\theta}{2}$ . For  $x$  and  $\beta > 0$ , we have*

$$\int_0^\infty e^{-\beta t} p_t^{(1)}(0, x) A_x^{\lambda, \alpha, (1)}(t) dt = e^{-\frac{\theta}{2} x^2} \frac{D_{-\frac{\omega_1}{\kappa} - \frac{1}{2} + \frac{\alpha^2}{2\kappa^3}} \left( \sqrt{2\kappa} \left( x + \frac{\alpha}{\kappa} \right) \right)}{D_{-\frac{\beta}{\kappa} - \frac{1}{2} + \frac{\alpha^2}{2\kappa^3}} \left( \sqrt{2\alpha} \kappa^{-3/2} \right)}$$



and

$$\int_0^\infty e^{-\beta t} p_t^{(3)}(0, x) \Lambda_x^{\lambda, \alpha, (3)}(t) dt = e^{-\frac{\theta}{2} x^2} x \frac{D_{-\frac{\omega_3}{\kappa} - \frac{1}{2} + \frac{\alpha^2}{2\kappa^3}}(\sqrt{2\kappa}(x + \frac{\alpha}{\kappa^2}))}{D_{-\frac{\beta}{\kappa} - \frac{1}{2} + \frac{\alpha^2}{2\kappa^3}}(\sqrt{2\alpha\kappa^{-3/2}})}.$$

*Proof.* From the absolute continuity relationship (29), we have

$$\mathbb{E}_x^\delta \left[ e^{-\frac{\lambda^2}{2} \int_0^t X_s^2 ds - \alpha \int_0^t X_s ds} \right] = \mathbb{E}_x^{(\delta)} \left[ e^{-\frac{\theta}{2} (R_t^2 - x^2 - \delta t)} e^{-(\frac{\lambda^2 + \theta^2}{2}) \int_0^t R_s^2 ds - \alpha \int_0^t R_s ds} \right].$$

The results follow by the same reasoning that for the proof of Proposition 2.

*Acknowledgement.* We are grateful to an anonymous referee for detailed comments. The second author would like to thank K. Borovkov and A.A. Novikov for stimulating discussions, while he was visiting UTS and the University of Melbourne.

## References

1. Alili, L., Patie, P. and Pedersen, J.L. Representations of first hitting time density of an Ornstein-Uhlenbeck process. *Stochastic Models*, 21(4), 2005.
2. Borodin, A.N. and Salminen, P. *Handbook of Brownian Motion - Facts and Formulae*. Probability and its Applications. Birkhäuser Verlag, Basel, 2<sup>nd</sup> edition, 2002.
3. Breiman, L. First exit times from a square root boundary. *In Fifth Berkeley Symposium*, 2(2):9–16, 1967.
4. Daniels, H.E. The minimum of a stationary Markov process superimposed on a U-shaped trend. *Journal of Applied Probability*, 6:399–408, 1969.
5. Doering, D.A., Hagan, P.S. and Levermore, C.D. Mean exit times for particles driven by weakly colored noise. *SIAM J. Appl. Math.*, 49(5):1480–1513, 1989.
6. Ghomrasni, R. On distributions associated with the generalized Lévy stochastic area formula. *Studia Scientiarum Mathematicarum Hungarica. A Quarterly of the Hungarian Academy of Sciences*, 41(1):83–100, 2004.
7. Göing-Jaeschke, A. and Yor, M. A clarification note about hitting times densities for Ornstein-Uhlenbeck processes. *Finance and Stochastics*, 7(3):413–415, 2003.
8. Gradshteyn, I.S. and Ryshik, I.M. *Table of Integrals, Series and Products*. Academic Press, San Diego, 6<sup>th</sup> edition, 2000.
9. Groeneboom, P. Brownian motion with a parabolic drift and Airy functions. *Prob. Theory and Related Fields*, 81(1):79–109, 1989.
10. Hu, Y., Shi, Z. and Yor, M. *Some Applications of Lévy Area Formula to Pseudo-Brownian and pseudo-Bessel bridges*, pages 181–209. Exponentials Functionals and Principal Values Related to Brownian Motion. 1997.
11. Itô, K. and McKean, H.P. *Diffusion Processes and their Sample Paths*. Springer-Verlag Berlin Heidelberg, 1996.
12. Jeanblanc, M., Pitman, J. and Yor, M. Feynman-Kac's formula and decomposition of Brownian paths. *Mat. Apl. Comput.. Sociedade Brasileira de Matemática Aplicada e Computacional*, 16(1):27–52, 1997.

13. Karatzas, I. and Shreve, S.E. *Brownian Motion and Stochastic Calculus*. Graduate Texts in Mathematics, 113. Springer-Verlag, New York, 2nd edition edition, 1991.
14. Lachal, A. Quelques martingales associées à l'intégrale du processus d'Ornstein-Uhlenbeck. Application à l'étude des premiers instants d'atteinte. *Stochastic and Stochastic Report*, 3-4:285–302, 1993.
15. Lebedev, N.N. *Special functions and their applications*. Dover Publications, New York, 1972.
16. Lefebvre, M. First-passage densities of a two-dimensional process. *SIAM Journal on Applied Mathematics*, 49(5):1514–1523, 1989.
17. Linetsky, V. Computing hitting time densities for OU and CIR processes: Applications to mean-reverting models. *Journal of Computational Finance*, 7:1–22, 2004.
18. Louchard, G. The Brownian excursion area. *Comput. Math. Appl.*, 10:413–417, 1984. Erratum:A12 (1986) 375.
19. Martin-Löf, A. The final size of a nearly critical epidemic, and the first passage time of a Wiener process to a parabolic barrier. *J. Appl. Prob.*, 35:671–682, 1998.
20. Patie, P. *On some First Passage Time Problems Motivated by Financial Applications*. PhD thesis, ETH Zurich, 2004.
21. Perman, M. and Wellner, J.A. On the distribution of the Brownian areas. *The Annals of Applied Probability*, 6(4):1091–1111, 1996.
22. Pitman, J. and Yor, M. A decomposition of Bessel bridges. *Z. Wahrsch. Verw. Gebiete*, 59:425–457, 1982.
23. Revuz, D. and Yor, M. *Continuous Martingales and Brownian Motion*, volume 293. Springer-Verlag, Berlin-Heidelberg, 3<sup>rd</sup> edition, 1999.
24. Salminen, P. On the first hitting time and the last exit time for a Brownian motion to/from a moving boundary. *Adv. in Appl. Probab.*, 20(2):411–426, 1988.
25. Shepp, L.A. A first passage problem for the Wiener process. *Annals of Mathematics and Statistics*, 38:1912–1914, 1967.
26. Shepp, L.A. On the integral of the absolute value of the pinned Wiener process. *The Annals of Probability*, 10(1):234–239, 1982.